PacnucaHue ypokos Ha 1 nonyrogue (1-4 knaccbl)

|| Bpemsi ypoka || la || 16 || 1B || 2a || 20 || 2B || 3a || 30 || 3B || 4a || 40 || 4B |
. |[:30-9:10 [E [E [E |- [E I8 IE IE |- [E |- IE |
E |9:3O -10:10 ||.HI/IT.‘IT ||.HI/IT.‘IT ||(D143-pa ||Pyc.ﬂ3. ||AHFJ‘I.5I3 ||Pyc.;13. ||OM ||J1HT.!{T ||Pyc.ﬂ3. ||MaTeM. ||Pyc.ﬂ3. ||Pyc.ﬂ3. |
é |10:30 -11:10 ||<DH3—pa ||Pyc.;{3. ||.HI/IT.‘-IT ||JIHTHT ||HI/IT.‘-IT ||MaTeM. ||AHrJ1.;13 ||MaTeM. ||.HI/IT.‘{T ||My3. ||MaTeM. ||O_M |
ﬁ |11:3O -12:10 ||Pyc.s[3. ||OM ||Pyc.s[3. ||MaTeM. ||MaTeM. ||OM ||CI)H3-pa ||CI)H3-pa ||AHrJ1.H3 ||Pyc.>13. ||OM ||MaTeM. |
E |12:30 -13:10 ||OM ||<DH3—pa ||OM ||OM ||Pyc.;13. ||TeXH. ||Pyc.;13. ||Pyc.;13. ||I/I3O ||H1/ITHT ||AHrJ1.;13 ||<DH3-pa |
= ||13:30-14:10 dus-pa TexH. Dus-pa
|8:30 -9:10 ||.HI/IT.‘IT ||(I)H3-pa ||My3. “AHFH.;B ||Pyc.513. “.HI/IT.‘IT ||.HI/IT.‘{T “Pyc.m. “HI/IT.qT “OM “Pyc.as’. ||w |
é |9:30 -10:10 ||Pyc.$[3. ||HI/IT.‘{T ||HI/IT.‘{T ||MaTeM. ||(1)I/13-pa ||MaTeM. ||Pyc.;{3. ||OM ||Pyc.$[3. ||AHrJ1.;{3 ||.HI/IT.‘IT ||AHFH.$[3 |
% |10:30 -11:10 ||MaTeM. ||Pyc.;13. ||Pyc.;13. ||<I)143-pa ||.HI/IT.‘IT ||Pyc.513. ||My3. ||AHF.H.513 ||OM HMaTeM. HMaTeM. ||M |
E |11:30 -12:10 ||My3. ||MaTeM. ||MaTeM. ||Pyc.;13. ||MaTeM. ||AHFJ'I.H3 ||MaTeM. ||MaTeM. ||MaTeM. ||TeXH. ||CD1/13-pa ||BM |
|12:30 -13:10 ||- ||I/I3O ||TeXH. ||- ||OM ||d>1/13-pa ||TGXH. ||- ||My3. ||Pyc.;13. ||- ||m |
|8230 -9:10 ||®I/13-pa ||My3 ||.HPIT.‘IT ||MaTeM. ||Pyc.513. ||.HPIT.‘IT ||MaTeM. ||.HI/IT.‘IT ||AHFJ'I.H3 ||.HI/IT.‘IT ||.H1/IT.qT ||Pyc.;13. |
< |9:30 -10:10 ||.HI/IT.‘IT ||.HI/IT.‘IT ||Pyc.$[3. ||.HI/IT.‘IT ||My3. ||Pyc.;{3. ||AHrJ1.;{3 ||MaTeM. ||Pyc.$13. ||MaTeM. ||MaTeM. ||.HI/IT.‘IT |
5 |10:30 -11:10 ||Pyc.ﬂ3. ||Pyc.ﬂ3. ||MaTeM. ||Pyc.ﬂ3. ||AHF.H.513 ||MaTeM. ||.HI/IT.‘IT ||My3. ||HI/IT.‘IT ||CI>H3-pa ||Pyc.si3. ||MaTeM. |
=
© |11:30 -12:10 ||MaTeM. ||MaTeM. ||(D1/13-pa ||OM ||MaTeM. ||OM ||Pyc.513. ||Pyc.513. ||MaTeM. ||CI>H3-pa ||AHrn.si3 ||M}g |
|12:3O -13:10 ||- ||- ||- ||My3. ||(1)H3—pa ||(13H3-pa ||- ||OM ||TeXH. ||Pyc.;13. ||I/I3O ||- |
|8:30 -9:10 ||HI/IT.qT ||HI/1T.qT ||OM ||Pyc.;(3. ||JII/1T.qT ||d)1/13-pa ||Pyc.513. ||d)1/13-pa ||.HI/IT.‘{T “HI/IT.‘IT “TeXH. ||.H1/1T.qT |
E |9:30 -10:10 ||Pyc.$[3. ||Pyc.$[3. ||MaTeM. ||I/130 ||Pyc.>13. ||.HI/IT.‘{T ||.HI/IT.‘IT ||AHrJ1.;{3 ||Pyc.$[3. ||MaTeM. ||MaTeM. ||MaTeM. |
E |10:30 -11:10 ||MaTeM. ||MaTeM. ||Pyc.$[3. ||AHrJ1.$13 ||MaTeM. ||Pyc.>13. ||MaTeM. ||HI/IT.‘IT ||OM ||Pyc.;13. “HI/IT.‘IT ||AHrn.$[3 |
2 [11:30-12:10 |m30 [Texu. |30 |Jurar  |lom |Arrss  |[oM |[Pyc.s3. [Marem.  |[M30 |[Pyc.s3. 130 |
[12:30 - 13:10 |@us-pa |- B - 130 130 |30 130 |Duz-pa |- [Mys. [Pycss. |
|8:30 -9:10 ||OM ||Pyc.si3. ||- ||HI/IT.‘IT ||q)1/13—pa ||- ||d)1/13-pa ||Pyc.513. ||MaTeM. ||OPKHC3 ||- ||Pyc.ﬂ3. |
|9:30 -10:10 ||Pyc.ﬂ3. ||CDI/I3—pa ||.HI/IT.‘-IT “MaTeM. ||Pyc.513. ||Pyc.513. ||®H3-pa HJ'Im.qT ||- “AHFH.SIS ||OM ||OPKI/IC3 |
<
E 10:30 - 11:10 Matem. Martem. ||Pyc.s3. ||@us-pa Jlut.9T Mys. Pyc.s3. Martem. Pu3-pa OM Pyc.s3. JIuT.gT
=
E 11:30 - 12:10 TexH. OM Martewm. |Pyc.s3. TexH. Martewm. Jlut.ur Ous-pa St Pyc.s3. OPKuC9 OM
|12:30 -13:10 ||- ||- ||CDI/I3—pa ||TeXH. ||- ||.HPIT.‘IT ||MaTeM. ||- ||Pyc.;13. ||.HI/IT.‘IT ||JTI/IT.qT ||- |
Baoww |- - | F | | ; | . |
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